Paterson Public Schools

Summer Math Practice

Students Entering 8" Grade

Student Name




Resources for Summer Math Packets

The following websites may be useful tools as you work through the Summer Math Packet.

e https://www.khanacademy.org/ Video demonstrations on various topics

e http://www.algebralab.org Lessons, practice problems

e http://www.algebra-class.com Lessons, practice tests

e http://college-cram.com/study/ Lessons, study sheets, practice worksheets, & quizzes
e http://www.algbasics.com/ Video lessons with explanations

e http://www.purplemath.com/ Lessons with explanations

e http://www.coolmath.com/ Written lessons with examples, dictionary, math games
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Completion All problems are | At least 27 At least 18 At [east 9 Less than 9
completed problems are problems are problems are problems are
completed completed completed completed

Mathematical

Uses complex

Uses effective

Some evidence

Little evidence

No evidence of

Reasoningand | and refined mathematical of mathematical | of mathematical | mathematical

Errors mathematical reasoning. reasoning. reasoning. reasoning.
reasoning. Almost all, 75- Most, 50-74%, More than 50% | There are barely
90-100% of the | 89%, of the of the stepsand | of the stepsand | any questions
steps and steps and solutions have solutions have that have
solutions have solutions have no mathematicat correct steps
no no mathematical errors and solutions
mathematical mathematical errors
errors errors

Mathematical Explanation Explanation Explanation Explanation Thereis no

Concepts & shows complete | shows shows some shows very understanding

Terminology understanding substantial understanding limited of the concepts

and Notation of the understanding of the understanding needed OR is
mathematical of the mathematical of the not written.
concepts used mathematical concepts underlying There is no use
to solve the concepts used needed to solve | concepts of terminology
problems. to solve the the problems. needed to solve | or notation
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Andrew has one book that ig 2 % inches

thick and a second book that is 3.56
inches thick. If he stacks the books,
about how tall will the stack be? Round
to the nearest hundredth.

Jeremiah makes a recipe that calls for 1%

cups of flour and % stick of butter.

If Jeremiah uses 3 sticks of butter, how
many cups of flour will he need?

What is the volume of the triangular
prism?

Rebekah bought g gallons of paint for
$12.85 per gallon and b brushes for
$4.79 each. Which expression can be
used to determine the total amount
Rebekah spent on paint and brushes?

a) 4.79h+12.85¢

b) 4.79g+ 12.85b

c) 12.856+4.795

d) 12.85g—4.795
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At a wedding reception, an equal number
of guests were seated at 12 round tables.
The 13 people in the wedding party were
seated at a rectangular table. There were
121 people at the reception altogether.
Which equation could you use to find the
number of guests, n, seated at each round
table?

a) 12+13n=121

b) 12n+13=121

c) 121=12n-13

d) 121=13n-12

The world record for the greatest
temperature range recorded in one day
occurred in Browning, Montana, in 1916.
The temperature fell from 44°F to -56°F.
What was the temperature change that
day?

A 12-section game wheel has a 25%
probability that the pointer will land on
green. What is the likelihood that the
pointer will land on green?
a) Itis certain the pointer will land
on green.
b) Itis neither likely nor unlikely
the pointer will land on green.
c) Itis likely the pointer will land
on green.
d) It is unlikely the pointer will land
on green.
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How many triangles can be formed from
two given angle measures and the length
of their included side?

a) None

b) One

¢) Two

d) Infinite number

A national survey of middle-school
students asks which subject is most
challenging. Which of these samples is a
representative sample?
a) 372 sixth-graders in a certain
town
b) 972 seventh-graders in a certain
county
c) 619 eighth-graders in different
states
d) 400 students from various states,
representing different grades, 6-8

10

The manager of a food court estimates
that he needs 7 pretzels for every 20
people who attend a hockey game. What
constant of proportionality relates the
number of pretzels to people?
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18

What is the constant of proportionality
shown on the graph?

Ay /‘/
4

/F

2 /
)4

4 5

0 2 4

19

Sonya buys four pairs of shoes on sale
for buy one, get one 50% off. The sales
tax is 6.5%. If the original price for each
pair of shoes was $35, how much does
Sonya pay for the four pairs altogether?

20

A gardener is installing fence around his
garden. Let x represent the width of the
garden, in feet. The perimeter of the
garden is 8x + 8. Which expression
represents the length of the garden?

a) 2x+2

b) 3x+4

¢} 6x+8

d) 8 +8-2x
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31

For Spirit Day, each 8th-grade
homeroom designs a unique two color T-
shirt. They get to choose from the colors
red (R), blue (B), green (G), violet (V),
and orange (O). Each T-shirt is a solid
color with a different color used for the
student’s name. What is the probability
that a homeroom will have a T-shirt with
a combination of blue and violet?

a) P(Band V)=10%

b) P(Band V)=20%

c) P(B and V)=30%

d) P(Band V}=40%

32

What are the dimensions of the vertical
cross section shown on this right
rectangular prism?

a) Sin. X 12in.
b) 4in. X 12 in.
¢) 5in. X 4in,
d) 12in. X 5in.
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33

Which inequality represents the
following situation: %times 51less thana
number is no more than 277

a) %(x—5)227
b) 2x—5<27

9 2(5-x)=27
d) g(x—5)527

34

Charlie bought a car for 5% off the
selling price of $7,200. The sales tax for
his state is 3.4%. How much is the sales
tax?

35

The circumference of a circle is 6%
inches. What is the area of the circle?

A=mr?




Date

Q#

Question

Rationale/Explanation

Work

Answer

36

A company owns two manufacturing
plants with daily production levels of
8x + 17 widgets and 5x — 7 widgets,

where x represents a minimum quantity.

How many more items does the first
plant produce daily than the second
plant?






